230V, 50 - 60 Hz,| www .kef.com.ir
2400 W

Spare Parts Info

FLT 120

v




FLT-120

Z
°©

OOO\]O\U\Aml\)Hl

Part Name (Turkish) Part Code Part Name (English) Number of Component
Plastik Kapak PC 103 - 065 Plastic Cover (for water tank) 1
Tekli Samandira (Float Switch) EC 107 - 063 - 0603 [Stainless Steel Single Float Switch 1
M4x20 Havsabagh FT 101 - 063 M4x20 Countersunk-Head Screw (Inox) 4
Plastik Su Haznesi PC 101 -063 - 0601 |Water Tank 1
Hortum 3 (20 cm/ 9x14 mm) PC 109 - 057 - 0602 |Hose 3 (20 cm/ 9x14 mm) 1
Hortum 1 (31 cm/ 9x14 mm) PC 106 - 063 - 0005 [Hose 1 (31 cm/ 9x14 mm) 1
Boiler EC 105 - 057 - 0501 |Boiler 1
Hortum 2 (3 cm/ 9x14 mm) PC 107 - 062 Hose 2 (3 cm/ 9x14 mm) 1
Checkvalve FT 112 - 057 - 0503 |Checkvalve 1
Cam Pot OC 101 - 067 Glass Carafe 2
Heating Plate (Isitic1 Plaka) SM 109 - 054 - 0103 |Heating Plate 2
Kuru Rezistans EC 111-054-0104 |Heating Rod 2
Kablo Koruma Contast FT 108 - 052 Cable Protection Gasket 2
Rezistans Sact SM 110 - 054 - 0102 |Resistance Plate 2
M4x8 Topbasl: Vida YSB FT 102 M4x8 Screw (Inox) 4
M4x10 Topbasli Vida YSB FT 103 M4x10 Screw (Inox) 12
Lamba (Kirmizr) EC102-059-K |Red Signal Lamp 1
Anahtar (Tkili-Kirmizr) EC 110-060 -K |Red Light On/ Off Switch (Double) 1
Marka - Model Etiketi OC 103 - 058 Brand Label 1
Ust Sac SM 114 - 054 Upper Body 1
Orta Sac SM 101 - 053 Middle Body 1
Alt Sac SM 115 - 050 Bottom Body 1
Ayak PC 108 - 061 Feet 4
Arka Kapak SM 105 - 064 Back Cover 1
Role EC 108 - 056 Relay 1
3 Pin Power Soket EC 104 - 051 3 Pin Power Socket (Male) 1
Réle Sact SM 108 - 055 Relay Support 1
M5 Somuin FT 110 - 062 - 0006 |M5 Nut (Inox) 1
Plastik Damlalik Ust PC 104 - 062 - 0002 |Upper Dripper 1
O-ring (90x3 mm) FT 109 - 062 - 0001 |O-ring (90x3 mm) 1
Damlalik Saci SM 106 - 062 - 0004 |[Dripper Plate 1
Plastik Damlalik Alt PC 105 - 062 - 0003 |Bottom Dripper 1
M5x40 Inox Topbash Vida FT 111 -062 - 0007 |M4x40 (Inox) 1
Demleme Haznesi PC 102 - 066 Brew Basket 1
Alt Kapak SM 104 - 060 Bottom Cover 1
Fisli Kablo (3x1,5 mm) EC 106 -068 Plug-in (3x1,5 mm) 1
Bimetal Otomatik Termostat (115°C) EC 112-057-0502 |Bimetal Automatic Thermostat (115°C) 1
Bimetal Manuel Giivenlik Termostat (130°C) EC 113 -057-0504 |Bimetal Manual Safety Thermostat (130°C) 1
Kablo Grubu EC 101 - 061 Wiring Harness 1
Toprak Kablosu EC 109 - 054 - 0101 |Grounding Cable 1
M3x6 Plastik Vidasi FT 104 M3x6 Screw (Inox) 3
Tirtill Sifir Kafa Perginli Somun FT 105 Rivet Nut (Inox) 19
M3x10 Pop Pergin FT 106 M3x10 Pop Rivet 17
M4 Somun FT 107 - 057 M4 Nut (Inox) 2
Seri Numarasi Etiketi OC 102 Serial Number Label 1
Filtre Kagidi (90x250 mm) OC 105 Coffee Filter (90x250 mm) 25
Kullanim Klavuzu OC 106 User Manual 1
First time use etiket 1 (i¢) OC 108 First Time Use Label 1 (inside) 1
First time use etiket 2 (dis) OC 109 First Time Use Label 2 (outside) 1




